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Quiz 5 (20 points)

1.  (7 points) Write the complete electron configuration for chromium as predicted by the periodic table
Do you think that chromium has an anomalous configuration?  If so, what would you predict for the anomalous configuration and why?

2. (3 points) Write the shorthand configuration for platinum as predicted by the periodic table.

3. (10 points) Calculate the overall energy change in kJ/mol for the formation of SrCl2 from the elements.  The following data are needed:
Electron affinity for Cl = -348.6 kJ

Ionization 1st electron of Sr = + 549.5 kJ/mol

Ionization 2nd electron of Sr = +1064.2 kJ/mol

Heat of sublimation for Sr = +164.44 kJ/mol

Bond dissociation energy for Cl2 = +243 kJ/mol

Lattice energy for SrCl2 = +2156 kJ/mol










